Int. J. Open Problems Compt. Math., Vol. 8, No. 2, June 2015 ISSN 2074-2827; Copyright ©ICSRS Publication, 2015 www.i-csrs.org

Some growth properties of entire functions depending on their relative orders

Sanjib Kumar Datta

Department of Mathematics, University of Kalyani P.O.- Kalyani, Dist-Nadia, PIN- 741235, West Bengal, India e-mail:sanjib kr datta@yahoo.co.in

Tanmay Biswas

Rajbari, Rabindrapalli, R. N. Tagore Road, P.O. Krishnagar P.S.- Kotwali, Dist-Nadia, PIN- 741101, West Bengal, India e-mail: tanmaybiswas_math@rediffmail.com

Dilip Chandra Pramanik

Department of Mathematics, University of North Bengal Raja Rammohunpur, Dist-Darjeeling, PIN- 734013, West Bengal, India e-mail: dcpramanik@gmail.com

Received 08 October 2014; Accepted 31 January 2015

Abstract

In this paper we study some comparative growth properties of composite entire functions in terms of their maximum terms on the basis of their relative orders (relative lower orders) with respect to another entire function.

Keywords: Entire function, maximum term, composition, relative order (relative lower order), growth. Entire function, maximum term, composition, relative order (relative lower order), growth.

2010 Mathematical Subject Classification: 30D20, 30D30, 30D35.

1 Introduction, Definitions and Notations

Let \mathbb{C} be the set of all finite complex numbers and f be an entire function defined on \mathbb{C} . The maximum modulus $M_f(r)$ of f on |z| = r is defined as

$$M_f(r) = \max_{|z|=r} |f(z)| .$$

On the other hand, the maximum term $\mu_f(r)$ of $f = \sum_{n=0}^{\infty} a_n z^n$ is defined by

$$\mu_f(r) = \max_{n \ge 0} \left(\left| a_n \right| r^n \right) \; .$$

We use the standard notations and definitions in the theory of entire functions which are available in [8]. In the sequel we use the following notation:

$$\log^{[k]} x = \log\left(\log^{[k-1]} x\right), k = 1, 2, 3, \dots and \log^{[0]} x = x$$

If f is non-constant then $M_f(r)$ is strictly increasing and continuous and its inverse $M_f^{-1}(r) : (|f(0)|, \infty) \to (0, \infty)$ exists and is such that $\lim_{s \to \infty} M_f^{-1}(s) = \infty$. Bernal [1] introduced the definition of relative order of f with respect to g, denoted by $\rho_q(f)$ as follows:

$$\rho_{g}(f) = \inf \left\{ \mu > 0 : M_{f}(r) < M_{g}(r^{\mu}) \text{ for all } r > r_{0}(\mu) > 0. \right\}$$
$$= \limsup_{r \to \infty} \frac{\log M_{g}^{-1} M_{f}(r)}{\log r}.$$

Similarly, one can define the relative lower order of f with respect to g denoted by $\lambda_g(f)$ as follows :

$$\lambda_{g}\left(f\right) = \liminf_{r \to \infty} \frac{\log M_{g}^{-1} M_{f}\left(r\right)}{\log r}.$$

If we consider $g(z) = \exp z$, the above definition coincides with the classical definition { cf. [7] } of order (lower order) of an entire function f which is as follows:

Definition 1. The order ρ_f and the lower order λ_f of an entire function f are defined as

$$\rho_f = \limsup_{r \to \infty} \frac{\log^{[2]} M_f(r)}{\log r} \text{ and } \lambda_f = \liminf_{r \to \infty} \frac{\log^{[2]} M_f(r)}{\log r}.$$

Using the inequalities $\mu(r, f) \leq M(r, f) \leq \frac{R}{R-r}\mu(R, f) \{cf. [6]\}, \text{ for } 0 \leq r < R \text{ one may give an alternative definition of order(lower order) of entire function in the following manner:$

$$\rho_f = \limsup_{r \to \infty} \frac{\log^{[2]} \mu_f(r)}{\log r} \text{ and } \lambda_f = \liminf_{r \to \infty} \frac{\log^{[2]} \mu_f(r)}{\log r}.$$

In the case of relative order, it therefore seems reasonable to state suitably an alternative definition of relative order of entire function in terms of its maximum terms. Datta and Maji [2] introduced such a definition in the following way:

Definition 2. [2] The relative order $\rho_g(f)$ and the relative lower order $\lambda_g(f)$ of an entire function f with respect to another entire function g are defined as follows:

$$\rho_g\left(f\right) = \limsup_{r \to \infty} \frac{\log \mu_g^{-1} \mu_f\left(r\right)}{\log r} \text{ and } \lambda_g\left(f\right) = \liminf_{r \to \infty} \frac{\log \mu_g^{-1} \mu_f\left(r\right)}{\log r}.$$

In this paper we wish to establish some results relating to the growth rates of composite entire functions in terms of their maximum terms on the basis of relative order (relative lower order).

2 Lemmas

In this section we present some lemmas which will be needed in the sequel.

Lemma 1. [5] Let f and g be any two entire functions Then for every $\alpha > 1$ and 0 < r < R,

$$\mu_{f \circ g}\left(r\right) \leq \frac{\alpha}{\alpha - 1} \mu_{f}\left(\frac{\alpha R}{R - r} \mu_{g}\left(R\right)\right)$$

Lemma 2. [5] If f and g are any two entire functions with g(0) = 0. Then for all sufficiently large values of r,

$$\mu_{f \circ g}(r) \ge \frac{1}{2} \mu_f\left(\frac{1}{8} \mu_g\left(\frac{r}{4}\right)\right) \;.$$

Lemma 3. [2] If f be an entire function and $\alpha > 1$, $0 < \beta < \alpha$, then for all sufficiently large r,

$$\mu_f(\alpha r) \ge \beta \mu_f(r)$$
.

3 Theorems

In this section we present the main results of the paper.

Theorem 4. Let f, g and h be any three entire functions such that

(i)
$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r) \right)}{\left(\log r \right)^{\alpha}} = A, \ a \ real \ number \ > 0,$$

(*ii*)
$$\liminf_{r \to \infty} \frac{\log \mu_h^{-1}(\mu_f(r))}{\left(\log \mu_h^{-1}(r)\right)^{\beta+1}} = B, \ a \ real \ number \ > 0$$

and g(0) = 0 for any α, β satisfying $0 < \alpha < 1$, $\beta > 0$ and $\alpha(\beta + 1) > 1$ Then

$$\rho_h(f \circ g) = \infty$$

Proof. From (i) we have for a sequence of values of r tending to infinity,

$$\log \mu_h^{-1} \left(\mu_g(r) \right) \ge (A - \varepsilon) \left(\log r \right)^{\alpha} \tag{1}$$

and from (ii) we obtain for all sufficiently large values of r that

$$\log \mu_h^{-1}\left(\mu_f(r)\right) \ge (B - \varepsilon) \left(\log \mu_h^{-1}\left(r\right)\right)^{\beta + 1}$$

Since $\mu_g(r)$ is continuous, increasing and unbounded function of r, we get from above for all sufficiently large values of r that

$$\log \mu_h^{-1}\left(\mu_f(\mu_g(r))\right) \ge (B - \varepsilon) \left(\log \mu_h^{-1}\left(\mu_g(r)\right)\right)^{\beta+1} .$$
(2)

Also $\mu_h^{-1}(r)$ is an increasing function of r, it follows from Lemma 2, Lemma 3, (1) and (2) for a sequence of values of r tending to infinity that

$$\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \log \mu_h^{-1} \left\{ \mu_f \left(\frac{1}{24} \mu_g \left(\frac{r}{4} \right) \right) \right\}$$

i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}$
i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq (B - \varepsilon) \left(\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right) \right)^{\beta+1}$
i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq (B - \varepsilon) \left[(A - \varepsilon) \left(\log \left(\frac{r}{100} \right) \right)^{\alpha} \right]^{\beta+1}$
i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq (B - \varepsilon) (A - \varepsilon)^{\beta+1} \left(\log r + O(1) \right)^{\alpha(\beta+1)}$
i.e., $\frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \geq \frac{(B - \varepsilon) (A - \varepsilon)^{\beta+1} \left(\log r + O(1) \right)^{\alpha(\beta+1)}}{\log r}$

i.e., $\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \ge \liminf_{r \to \infty} \frac{(B - \varepsilon) \left(A - \varepsilon\right)^{\beta + 1} \left(\log r + O(1)\right)^{\alpha(\beta + 1)}}{\log r} \ .$

Since $\varepsilon (> 0)$ is arbitrary and $\alpha (\beta + 1) > 1$, it follows from above that

$$\rho_h\left(f\circ g\right) = \infty,$$

which proves the theorem.

In the line of Theorem 4 one may state the following two theorems without their proofs :

Theorem 5. Let f, g and h be any three entire functions such that

$$\liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r)\right)}{\left(\log r\right)^{\alpha}} = A, \ a \ real \ number > 0,$$
$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_f(r)\right)}{\left(\log \mu_h^{-1} \left(r\right)\right)^{\beta+1}} = B, \ a \ real \ number > 0$$

and g(0) = 0 for any α, β satisfying $0 < \alpha < 1$, $\beta > 0$ and $\alpha(\beta + 1) > 1$. Then

$$\rho_h\left(f\circ g\right) = \infty$$
.

Theorem 6. Let f, g and h be any three entire functions with

$$\liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r)\right)}{\left(\log r\right)^{\alpha}} = A, \ a \ real \ number \ > 0,$$
$$\liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_f(r)\right)}{\left(\log \mu_h^{-1} \left(r\right)\right)^{\beta+1}} = B, \ a \ real \ number \ > 0$$

and g(0) = 0 for any α, β with $0 < \alpha < 1, \beta > 0$ and $\alpha(\beta + 1) > 1$. Then

$$\lambda_h(f \circ g) = \infty$$
.

Theorem 7. Let f, g and h be any three entire functions satisfying

$$\begin{split} &\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r) \right)}{\left(\log^{[2]} r \right)^{\alpha}} = A, \ a \ real \ number \ > 0, \\ &\lim_{r \to \infty} \frac{\log \left[\frac{\log \mu_h^{-1} \left(\mu_f(r) \right)}{\log \mu_h^{-1}(r)} \right]}{\left[\log \mu_h^{-1} \left(r \right) \right]^{\beta}} = B, \ a \ real \ number \ > 0 \end{split}$$

and g(0) = 0 for any α, β satisfying $\alpha > 1, 0 < \beta < 1$ and $\alpha\beta > 1$. Then

$$\rho_h\left(f\circ g\right) = \infty$$

Proof. From (i) we have for a sequence of values of r tending to infinity we get that

$$\log \mu_h^{-1}\left(\mu_g(r)\right) \ge (A - \varepsilon) \left(\log^{[2]} r\right)^{\alpha} \tag{3}$$

and from (ii) we obtain for all sufficiently large values of r that

$$\log\left[\frac{\log\mu_h^{-1}\left(\mu_f(r)\right)}{\log\mu_h^{-1}\left(r\right)}\right] \geq (B-\varepsilon)\left[\log\mu_h^{-1}\left(r\right)\right]^{\beta}$$

i.e.,
$$\frac{\log\mu_h^{-1}\left(\mu_f(r)\right)}{\log\mu_h^{-1}\left(r\right)} \geq \exp\left[(B-\varepsilon)\left[\log\mu_h^{-1}\left(r\right)\right]^{\beta}\right]$$

Since $\mu_{g}(r)$ is continuous, increasing and unbounded function of r, we get from above for all sufficiently large values of r that

$$\frac{\log \mu_h^{-1}\left(\mu_f(\mu_g(r))\right)}{\log \mu_h^{-1}\left(\mu_g(r)\right)} \ge \exp\left[\left(B - \varepsilon\right)\left[\log \mu_h^{-1}\left(\mu_g(r)\right)\right]^{\beta}\right] .$$
(4)

Also $\mu_h^{-1}(r)$ is increasing function of r, it follows from (3), (4), Lemma 2 and Lemma 3 for a sequence of values of r tending to infinity that

$$\begin{array}{ll} \displaystyle \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} & \geq & \displaystyle \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\frac{1}{24} \mu_g \left(\frac{r}{4} \right) \right) \right\}}{\log r} \\ i.e., & \displaystyle \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} & \geq & \displaystyle \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}}{\log r} \end{array}$$

$$i.e., \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)} \cdot \frac{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)}{\log r}$$

$$i.e., \ \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \ \exp\left[\left(B - \varepsilon\right) \left[\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100}\right)\right)\right]^{\beta}\right] \cdot \frac{\left(A - \varepsilon\right) \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha}}{\log r}$$

$$i.e., \ \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \ \exp\left[\left(B - \varepsilon\right) \left(A - \varepsilon\right)^{\beta} \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha\beta}\right] \cdot \frac{\left(A - \varepsilon\right) \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha}}{\log r}$$

$$i.e., \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \exp\left[\left(B - \varepsilon\right) \left(A - \varepsilon\right)^{\beta} \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha\beta-1} \log^{[2]} \left(\frac{r}{100}\right)\right] \cdot \frac{\left(A - \varepsilon\right) \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha}}{\log r}$$

$$i.e., \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \left(\log \left(\frac{r}{100}\right)\right)^{\left(B - \varepsilon\right) \left(A - \varepsilon\right)^{\beta} \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha\beta-1}} \cdot \frac{\left(A - \varepsilon\right) \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha}}{\log r}$$

$$i.e., \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \liminf_{r \to \infty} \left(\log \left(\frac{r}{100}\right)\right)^{\left(B - \varepsilon\right) \left(A - \varepsilon\right)^{\beta} \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha\beta-1}} \cdot \frac{\left(A - \varepsilon\right) \left(\log^{[2]} \left(\frac{r}{100}\right)\right)^{\alpha}}{\log r}.$$

Since $\varepsilon (> 0)$ is arbitrary and $\alpha > 1$, $\alpha\beta > 1$, the theorem follows from above.

In the line of Theorem 7, one may also state the following two theorems without their proofs :

Theorem 8. Let f, g and h be any three transcendental entire functions such that

$$\begin{split} \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r) \right)}{\left(\log^{[2]} r \right)^{\alpha}} &= A, \ a \ real \ number \ > 0, \\ \limsup_{r \to \infty} \frac{\log \left[\frac{\log \mu_h^{-1} \left(\mu_f(r) \right)}{\log \mu_h^{-1}(r)} \right]}{\left[\log \mu_h^{-1}(r) \right]^{\beta}} &= B, \ a \ real \ number \ > 0 \end{split}$$

and g(0) = 0 for any α, β with $\alpha > 1, 0 < \beta < 1$ and $\alpha\beta > 1$. Then

$$\rho_h(f \circ g) = \infty$$

Theorem 9. Let f, g and h be any three transcendental entire functions such that

$$\begin{split} \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g(r) \right)}{\left(\log^{[2]} r \right)^{\alpha}} &= A, \ a \ real \ number \ > 0, \\ \lim_{r \to \infty} \frac{\log \left[\frac{\log \mu_h^{-1} \left(\mu_f(r) \right)}{\log \mu_h^{-1}(r)} \right]}{\left[\log \mu_h^{-1} \left(r \right) \right]^{\beta}} &= B, \ a \ real \ number \ > 0 \end{split}$$

and g(0) = 0 for any α, β satisfying $\alpha > 1, 0 < \beta < 1$ and $\alpha\beta > 1$. Then

 $\lambda_h(f \circ g) = \infty$.

Theorem 10. Let f, g and h be any three entire functions with $0 < \lambda_h(g) \le \rho_h(g) < \infty$, and g(0) = 0 and

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_f(r) \right)}{\log \mu_h^{-1} \left(r \right)} = A, \ a \ real \ number \ < \infty.$$

Then

$$\lambda_h(f \circ g) \le A\lambda_h(g) \le \rho_h(f \circ g) \le A\rho_h(g)$$
.

Proof. Since $\mu_h^{-1}(r)$ is an increasing function of r, it follows from Lemma 1, Lemma 2 and Lemma 3 for all sufficiently large values of r that

$$\mu_h^{-1}\mu_{f\circ g}(r) \ge \mu_h^{-1} \left\{ \mu_f\left(\mu_g\left(\frac{r}{100}\right)\right) \right\}$$
(5)

and

$$\mu_h^{-1} \mu_{f \circ g}(r) \le \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}$$
(6)

respectively.

Therefore from (5) we get for all sufficiently large values of r that

$$\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}$$

$$i.e., \ \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \geq \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}}{\log r}$$

$$i.e., \ \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \frac{\log \mu_h^{-1}\left\{\mu_f\left(\mu_g\left(\frac{r}{100}\right)\right)\right\}}{\log \mu_h^{-1}\left(\mu_g\left(\frac{r}{100}\right)\right)} \cdot \frac{\log \mu_h^{-1}\left(\mu_g\left(\frac{r}{100}\right)\right)}{\log r}$$

$$i.e., \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \limsup_{r \to \infty} \left[\frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)} \cdot \frac{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)}{\log r} \right]$$

$$i.e., \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\geq \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)} \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g \left(\frac{r}{100} \right) \right)}{\log r}$$

$$i.e., \ \rho_h \left(f \circ g \right) \ge A.\lambda_h \left(g \right) \ . \tag{7}$$

Similarly from (6), it follows for all sufficiently large values of r that

$$\log \mu_h^{-1} \mu_{f \circ g}(r) \leq \log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}$$

i.e.,
$$\frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \leq \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log r}$$

$$i.e., \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \\ \leq \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)} \cdot \frac{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)}{\log r}$$
(8)

$$i.e., \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\leq \liminf_{r \to \infty} \left[\frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)} \cdot \frac{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)}{\log r} \right]$$

$$i.e., \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\leq \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)} \cdot \liminf_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)}{\log r}$$

$$i.e., \lambda_h \left(f \circ g \right) \leq A.\lambda_h \left(g \right) . \tag{9}$$

Also from (8) we obtain for all sufficiently large values of r that

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\leq \limsup_{r \to \infty} \left[\frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)} \cdot \frac{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)}{\log r} \right]$$

$$i.e., \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r}$$

$$\leq \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(26r \right) \right) \right\}}{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)} \cdot \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_g \left(26r \right) \right)}{\log r}$$

$$i.e., \ \rho_h \left(f \circ g \right) \leq A.\rho_h \left(g \right) \ . \tag{10}$$

Therefore the theorem follows from (7), (9) and (10) . $\hfill \Box$

Theorem 11. Let f, g and h be any three entire functions satisfying g(0) = 0and $0 < \lambda_h(g) \le \rho_h(g) < \infty$ and

$$\liminf_{r \to \infty} \frac{\log \mu_h^{-1}\left(\mu_f(r)\right)}{\log \mu_h^{-1}\left(r\right)} = A, \ a \ real \ number \ < \infty.$$

Then

$$\lambda_h \left(f \circ g \right) \le A \rho_h \left(g \right) \le \rho_h \left(f \circ g \right) \; .$$

The proof of Theorem 11 is omitted because it can be carried out in the line of Theorem 10.

Theorem 12. Let f, g and h be any three entire functions such that g(0) = 0, $\rho_{h}(f) > 0 \text{ and } \lambda_{g} > 0. \text{ Then}$

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} = \infty .$$

Proof. Suppose $\rho_h(f) > 0$ and $\lambda_g > 0$. As $\mu_h^{-1}(r)$ is an increasing function of r, we get from Lemma 2, for all sufficiently large values of r that

$$\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \log \mu_h^{-1} \left\{ \mu_f \left(\mu_g \left(\frac{r}{100} \right) \right) \right\}$$

i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \left(\rho_h \left(f \right) - \varepsilon \right) \log M_g \left(\frac{r}{100} \right)$
i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \left(\rho_h \left(f \right) - \varepsilon \right) \log M_g \left(\frac{r}{100} \right)$
i.e., $\log \mu_h^{-1} \mu_{f \circ g}(r) \geq \left(\rho_h \left(f \right) - \varepsilon \right) \cdot \left(\frac{r}{100} \right)^{(\lambda_g - \varepsilon)}$
i.e., $\frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \geq \frac{\left(\rho_h \left(f \right) - \varepsilon \right) \cdot \left(\frac{r}{100} \right)^{(\lambda_g - \varepsilon)}}{\log r}$
i.e., $\lim_{r \to \infty} \frac{\log \mu_h^{-1} \mu_{f \circ g}(r)}{\log r} \geq \liminf_{r \to \infty} \frac{\left(\rho_h \left(f \right) - \varepsilon \right) \cdot \left(\frac{r}{100} \right)^{(\lambda_g - \varepsilon)}}{\log r}$
i.e., $\rho_h \left(f \circ g \right) = \infty$. (11)

•

Now in view of (11), we obtain that

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} \geq \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log r}$$
$$\liminf_{r \to \infty} \frac{\log r}{\log \mu_h^{-1} \left(\mu_f(r) \right)}$$

$$\begin{split} i.e., \ \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} & \geq \quad \rho_h \left(f \circ g \right) \cdot \frac{1}{\rho_h \left(f \right)} \\ i.e., \ \limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} & = \quad \infty \; . \end{split}$$

Thus the theorem follows.

Theorem 13. Let f, g and h be any three entire functions satisfying g(0) = 0, $\lambda_h(f) > 0$ and $\rho_q > 0$. Then

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} = \infty \ .$$

Theorem 14. Let f, g and h be any three entire functions such that g(0) = 0, $\lambda_h(f) > 0$ and $\lambda_g > 0$. Then

$$\limsup_{r \to \infty} \frac{\log \mu_h^{-1} \left(\mu_{f \circ g}(r) \right)}{\log \mu_h^{-1} \left(\mu_f(r) \right)} = \infty \; .$$

The proofs of Theorem 13 and Theorem 14 are omitted as those can be carried out in the line of Theorem 12.

4 Open Problem

Actually this paper deals with the works on the growth properties of composite entire functions in terms of their maximum terms on the basis of their relative orders (relative lower orders) with respect to another entire function. Further, in order to determine the relative growth of two entire functions having same non zero finite relative order with respect to another entire function, Roy [4] introduced the definition of relative type of an entire function f with respect to another entire function g denoted as $\sigma_g(f)$ having non zero finite relative order $\rho_g(f)$ in the following way:

$$\sigma_g(f) = \limsup_{r \to \infty} \frac{M_g^{-1} M_f(r)}{r^{\rho_g(f)}}$$

On the other hand, Datta and Biswas [3] introduced the definition of relative weak type of an entire function f with respect to another entire function g of finite positive relative lower order $\lambda_g(f)$ which is as follows:

$$\tau_{g}(f) = \liminf_{r \to \infty} \frac{M_{g}^{-1} M_{f}(r)}{r^{\lambda_{g}(f)}} .$$

Therefore using these two different relative growth indicators one may revisit the above growth estimations of composite entire functions under some different conditions. In this connection, the following natural questions may also be arisen :

1. Can these theories be modified by the treatment of the notions of relative order (respectively relative lower order), relative type and relative weak type of meromorphic functions?

2. Further can some extensions of the same be done for differential polynomials especially for wronskians and also for differential monomials?

References

- L. Bernal, Orden relative de crecimiento de funciones enteras, Collect. Math., 39 (1988), 209-229.
- [2] S. K. Datta and A. R. Maji, *Relative order of entire functions in terms of their maximum terms*, Int. Journal of Math. Analysis, 5 (43), (2011), 2119-2126.
- [3] S. K. Datta and A. Biswas, On relative type of entire and meromorphic functions, Advances in Applied Mathematical Analysis, 8 (2), (2013), 63-75.
- [4] C. Roy, Some properties of entire functions in one and several complex variables, Ph.D. Thesis, submitted to University of Calcutta, (2009).
- [5] A. P. Singh, On maximum term of composition of entire functions, Proc. Nat. Acad. Sci. India, 59(A) (Part I) (1989), 103-115.
- [6] A. P. Singh and M. S. Baloria, On maximum modulus and maximum term of composition of entire functions, Indian J. Pure Appl. Math., 22 (12) (1991), 1019-1026.
- [7] E.C. Titchmarsh, *The theory of functions*, 2nd ed., Oxford University Press, Oxford, (1968).
- [8] G. Valiron, *Lectures on the general theory of integral functions*, Chelsea Publishing Company, (1949).